MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMI, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
M.Q. Windows, Inc. CONTRACTOR LICENSING SECTION
1855 Griffin Road, Suite A-274 (305) 375-2527 FAX (305) 375-2558
Dania ,FL 33004 CONTRACTOR ENFORCEMENT DIVISION

(305) 3752966 FAX (305) 375-2908
PRODUCT CONTROL DIVISION
(305) 375-2902 FAX (305) 372-6339
Your application for Notice of Acceptance (NOA) of:
"JS Series" Glazed Inswing\Qutswing Mahogany Wood Doors-Impact
under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade
County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. If this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. %/ /_/gg

ACCEPTANCE NO.: 99-1228.06
EXPIRES: 02/08/2006 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above. /
Francisco J. Quintana, R.A.
Director
Miami-Dade County
APPROVED:_02/08/2001 Building Code Compliance Office

\1s045000 I\pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



M. Q. Windows Inc. ACCEPTANCE NO.: 99-1228.06

APPROVED . FEB 0 8 2001
EXPIRES . FEB 08 2006

NOTICE OF ACCEPTANCE: SPECIFIC CONDITIONS

SCOPE

This approves a wood swing door, as described in Section 2 of this Notice of Acceptance, designed
to comply with the South Florida Building Code (SFBC), 1994 Edition for Miami-Dade County, for
the locations where the pressure requirements, as determined by SFBC Chapter 23, do not exceed
the Design Pressure Rating values indicated in the approved drawings.

PRODUCT DESCRIPTION

The “JS Series “ Glazed Inswing / Outswing Mahogany Wood Doors-Large Missile Impact
Resistant and its components shall be constructed in strict compliance with the following
documents: Drawing No MQJS-NOAA4, titled “JS Series Inswing & Outswing Wood Doors” Sheets
1 through 15 of 15, prepared by manufacturer, dated 01/10/99 and last revised on 07-11-00, signed
and sealed by Walter A. Tillit Jr. , P.E., bearing the Miami-Dade County Product Control approval
stamp with the Notice of Acceptance number and approval date by the Miami-Dade County Product
Control Division. These documents shall hereinafter be referred to as the approved drawings.

LIMITATIONS

This approval applies to single unit applications of double door or single door, as shown in approved
drawings. Single door units shall include all components described in the active leaf of this
approval.

INSTALLATION

The inswing / outswing wood door and its components shall be installed in strict compliance with
the approved drawings.

Hurricane protection system (shutters): the installation of this unit will not require a hurricane
protection system.

LABELING

Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved".

The door slab itself shall also bear a permanent label, at the door inside edge, with the
manufacturer's name or logo, city and state.

BUILDING PERMIT REQUIREMENTS

Application for building permit shall be accompanied by copies of the following:

6.1.1 This Notice of Acceptance

6.1.2 Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed installation.

6.1.3 Any other documents required by the Building Official or the South Florida Building Code
(SFBC) in order to properly evaluate the installation of this system.

lstaq |- Lhands
Ishaq I. Chanda, P.E., Product Control Examiner
Product Control Division




M. Q. Windows Inc. ACCEPTANCE NO.: 99-1228.06

APPROVED . FEB 0 8 200t
EXPIRES . FEB 0 8 2006

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

1. Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed and the
original submitted documentation, including test supporting data, engineering documents, are no older than
eight (8) years.

2. Any and all approved products shall be permanently labeled with the manufacturer's name, city, state, and the
following statement: "Miami-Dade County Product Control Approved", or as specifically stated in the specific
conditions of this Acceptance.

3. Renewals of Acceptance will not be considered if:

a) There has been a change in the South Florida Building Code affecting the evaluation of this product and the
product is not in compliance with the code changes;

b) The product is no longer the same product (identical) as the one originally approved;

¢) Ifthe Acceptance holder has not complied with all the requirements of this acceptance, including the
correct installation of the product;

d) The engineer who originally prepared, signed and sealed the required documentation initially submitted is
no longer practicing the engineering profession.

4. Any revision or change in the materials, use, and/or manufacture of the product or process shall automatically
be cause for termination of this Acceptance, unless prior written approval has been requested (through the filing
of a revision application with appropriate fee) and granted by this office.

S. Any of the following shall also be grounds for removal of this Acceptance:
a) Unsatisfactory performance of this product or process.
b) Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other

purpose.

6. The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the Notice of Acceptance is
displayed, then it shall be done in its entirety.

7. A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall be
provided to the user by the manufacturer or its distributors and shall be available for inspection at the job site at
all time. The engineer need not reseal the copies.

8. Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

9. This Notice of Acceptance consists of pages 1, 2 and this last page 3.

\Slag . Claul,
Ishaq I. Chanda, P.E., Product Control Examiner
Product Control Division

END OF THIS ACCEPTANCE
3




3/8" shim space max

3/8" shim space max

INSTALLATION DETAIL:
2 x PT WOOD BUCK

@head, jombs &sill detail15 :

—— Installation Bracket
PDF-FS-05/D.

Screwed to the buck frame using

Ix 12 x 1 1/2" all threaded

(a.T.)wood screws. Min. embedment

is 1 1/4". Screwed to the door

frame using 2x #10 x 1” a.T. wood

screws. Min. embedment is 3/4".
DO NOT USE FOR DETAIL NO13

>—— Directly screwed:

Ghead, jombs &sill detail 15 :
Screwed through the frame profile
to the buck frame using #12 x
2 3/4" wood screws.

Min. embedment is 1 1/4",
@sill- detail1 3 :

Screwed through the aluminum
profile to the buck frame using
#12 x 2" wood screws.

Min. embedment is 1 1/4",

INSTALLATION DETAIL:
1 x PT WOOD SHIM

| 3 v = ‘ ve - AN | 2 Y7
L shim X max. shim T max X max.
£ space Passive o/¢ see  space 3/8 \ o/c see
o | . sash | “table 2 | Ssg'cfz Passive | “table
= o N NS 4
~ ’\] \\ \ & I ! < & ctive SOSh\ & ] !
S 2 o max. T og AN sash max.
] g o ' For_doors up l o/c 5 ,:E,g , For doors up l o/c
: £° to 76 3/4° W > 27 3 to 76 3/4 "W
<2 / i or 111 /8" FH —4 8 or 111 3/8" FH —4
N éi’ ?Q_j (18 For doors up "\ max. b éi’ 18 For doors up \ max.
2 = o S to gg 3%4 BN ore 2 £ to 64 3/47FW K [l ofc
: ‘W< sz2rhill” 14 o 2 < 1 AN > —
x. @ - £ i max. : 14 8b @ max.
o l £2 ‘_31 5/16 /1 I o/c at l A l o/c
E S g mox D.L.QY —4 £ N\ / —
: E idth 2
@© 2 E, \w ' max. © N max.
N | NCHITIE YN N R - NI Z | o
—EE
- —t — o E, H |
— max N — max Ty
3/8" I \\\ / I rg;::(. 3/8" l \\ g B / l nc';;:.
shim™\_ | | 2 shim N | | -~
space N 1% 5 1/2" space / T s 1/2"
T . - — max. _— o o
» max. o/c max. max. max. » » max. l max. max. »
51/2 see table’ o0/c o/c o/c 51/2 51/2 toble o/c o/c o/c 51/2
76 3/4" max frame & overall width — 76 3/4" max frame & overall width
3/8" shim
— — space max IN-SWING DOORS
Z o0
A, 51/2 CONFIGURATIONS: x, xx
max /X N X] (| mox. VIEWED FROM THE OQUTSIDE
- @3/&" 4 o/c see WOOD: Mahogany
5 shim Passive I table
" space sosh @@ *Note: D.L.O. max. lenght @ Muntin TABLE FOR MAX. DISTANCE
< \k\\/Active \ X | ma!x bar must be less than 31 1/4* wm&
D 222 |1 For doors | o/c | TYPE OF GLASS: SINGLE, LAMINATED @JAMBS, HEAD OR SLL
3 3 o 78 3{/‘{3- FW —+  [FOR D.LO. AREA UP T0 19 sqF 15/32° (0.1) MADE OF | | Frame Width ) | Max
8 F\ max. | 3/167(AN)-0.090" Saflex lll G* interlayer-3/16"(HS) from to |olc(in.)
° 18 thrsiogr/iprw | o /c [FOR D.LO. AREA UP TO 22.48 sqf 15/32" (0.T.) MADE OF o 62" "
£ or 99 378" FH > | 3/16°(HS)~0.090" Saflex Wi G* interlayer—3/16"(HS) 62 116" | 66 34| 13
O 4
£ @ ! @ max. WP: 1 3/4" RAISED WOOD PANEL 66 13/16"| 72 3/8"| 12°
X LA [l o/c [MAX D.LO. AREA: 7.81 sof 127167 76 3/4" | 1
€ f t (%) Refer to pageis HINGE SPACING
2 wood max.
§ \g = pcne)/ | ofe DESIGN PRESSURE 148803 steel hinges by
=g Positive Pressure: +58 psf Jardinier Massard secured with
- :é’:;: g, > (13 ] I*ﬂ:zx Negative ressure ~58 pof with 8 x #7 x 1" flat head screws
i £8 ¢ / | o /c [ NOTE: Al sizes noted are E’Eﬁgﬁ FQI[\’SOTM h%g
maximum sizes. Sizes smoller in .
j 5o | width & height are permitted. UPTO  QTY: CORNER
NOTE: This unit will not need 99 3/8" 5 8" 20 9/16"
. max. max. max. » | a hurricane protective system. 11 3/8" 5 8" 233/8
5 1/2 ofe =07 c>/c—+—l51/;: icane p ystem / /

toble

@head, jambs &sill detail 15:

—— Installation Bracket

PDF-FS-05/D.
Screwed to the masonry using 1/4"
x 2 1/2" Tapcon screws. Min.
embedment is 1 1/4", Screwed to
the door frame using 2x #10 x 1"
wood screws. Min. embedment is
3/4". DO NOT USE ©@ SILL FOR
DETAIL NO13

b——  Directly screwed:

Ghead, jambs &sill detail15 :
Directly screwed through the fromeg
to the masonry using 1/4" x 4”
Tapcon screws.

Min. embedment is 1 1/4".

@sill detail1 3

Directly screwed through the
aluminum profile to the masonry
using 1x 1/4” x 2 3/4" Tapcon
screws. Min. embedment is 1 1/4".

Spacing: All fasteners spacing Is 5 1/2
from comers. For Max. O/C, see table

Shim Space: 3/8° MAX. @ head, jambs
& sill. Use std wood shims behind as

1855 GRIFFIN ROAD,
SUITE A-274
DANIA,

FL 33004

JS SERIE

INSWING & OUTSWING
WOOD DOORS
MIAMI DADE COUNTY

Drawing no.: MQJS—NOA4

Scale:

1=20

Drawn

by:

S. Marcotte

Date drawn:
01/10/98

Date revised:
07/11/00

File:
DJS-

Page:

D9801

1 /15

STRUCTURALLY REVIEWED BY:

TILLIT TESTING & ENGINEERING COMPAY

6585 NW 36th STREET, STE. 217
MIAMI, FLORIDA 33166

"WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER

L FILLIC.NO.44167

[

e
14

4

required.

APPROVED AS COMPLYING WITH THE

SOUT
DATE.

s

DE
,Z00).

ov_lghag | . Chanda
PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCE NO._S4 ~ 1228+ 04




max
3/8"
shim
space

14

111 3/8" max. frame. & overall height

5 1/2"

max
3/8"
shim
space

4

31 5/16"
max D.L.O. —¢
width

max

% &

max D.L.O.
height

—®

varies from
36" min. to
54" maox.

~

(&) W~ 103 3/
(&)
//

—

ax.

| lo/c sed TOT | |

table
40 1/4” max

overall width

T NTEY,

b5 1/2"

frame & —

max

max X max
3/,8 Buck frame 3/8" 348 Buck frame 3/8"
shim interior face shim shim interior face shim
space space space
——-? ”
5 1_/2
- mox max.
= < 14 3/,8 ’o/c see
Ry Ry shim
g g | 'table
< £ \59003 1 —
% % \\/ . max.
5 5 Active o/c
3 3 sash |
3 3 / I
max
) ) 14 14 o/c.
: : 7“l< |
g g i
. . . max
é | | o/c é | \ | o/c
8 \\ r~+ 2 —T- —4‘ ]_—+.
Q £8 . max. Q ) é\ g S . max.
N 1 x o/c WOOd\ & - © o/c
ik l \\ \; g g JI / ” IL panel m'é § l
— -——T - —t o - \——T
- 20 b h N
i l @ o S l max. i l ( g8 l max.
I DT > | | o
| ﬁ(z" %u 50
X1 max. * | max.
5 1/2/4tolc sed ' 7 | L5/ 5 1/2" /4 Lofe sed ‘070 | 15 /pn
table max table
max ”» » »
. 40 1/4" max 3/8 40 1/4” max
2(& — frame & — shim +— frame & —
space overall width space overall width

IN-SWING DOORS
CONFIGURATIONS: x, xx

VIEWED FROM THE OUTSIDE
WQOOD: Mahogany

(3

*Note: D.L.O. max. lenght @ Muntin

bar must be less than 31 1/4"

INSTALLATION DETAIL:
2x PT WOOD BUCK

©Ghead, jombs &sill detail 15

—— Installation Bracket
PDF-FS-05/D.

Screwed to the buck frame using

Ix #12 x 1 1/2" all threaded

(a.T.)wood screws. Min. embedment

is 1 1/4". Screwed to the door

frame using 2x #10 x 1" a.T. wood

screws. Min. embedment is 3/4".
DO NOT USE FOR DETAIL NO13

>—— Directly screwed:
@head, jambs &sill detail15 :
Screwed through the frame profile
to the buck frame using #12 x
2 3/4” wood screws.

Min. embedment is 1 1/4".
@sill detail1 3 :

Screwed through the aluminum
profile to the buck frame using
#12 x 2" wood screws.

Min. embedment is 1 1/4",

1855 GRIFFIN ROAD,
SUITE A-274
. DANIA, FL 33004

[ ]
WINDOWS
OF EUROPE AND
THE AMERICAS

JS SERIE
INSWING & OUTSWING
WOOD DOORS
MIAMI DADE COUNTY

Drawing no.: MQUS—NOQA4

INSTALLATION DETAIL:
1 x PT WOOD SHIM

TABLE FOR MAX. DISTANCE
BETWEEN BRACKET OR
SCREW CONNECTION

@JAMBS, HEAD OR SILL

TYPE OF GLASS: SINGLE, LAMINATED

DESIGN PRESSURE

from

Frame Width (in.)

FOR D.L.O. AREA UP TO 19 sqf: 15/327 (0.T.) MADE OF
3/16°(AN)-0.090" Safiex Il G* intertayer~3/16"(HS)

FOR D.L.0. AREA UP TO 22.48 sqf: 15/32" (0.T.) MADE OF
3/167(HS)-0.090" Saflex Il G* interlayer—3 16°(HS)

"~ HINGE SPACING

Positive Pressure: +58 psf
Negative Pressure -68 psf

NOTE: All sizes noted are
maximum sizes. Sizes smaller in

Max,
to [o/c(in.)

o
62 1/16"
66 13/16°
72 7/16"

62"
66 3/4"
72 3/8°
76 3/4"

WP: 1 3/4" RAISED WOOD PANEL

width & height are permitted.

14"

MAX. D.LO. AREA: 7.8 sqf

NOTE: This unit will not need

13
12°
n"”

(*) Refer to page14

a hurricane protective system.

1488~03 steel hinges by

Jardinier Mossorq secured with
with 8 x #7 x 1" flat head screws

FRAME DIST.  0/C
HEIGHT FROM  MAX.
UPTO QTY: CORNER

99 3/8" 5 8  209/16"
mM3/8° 5 8 233/8"

©@head, jambs &sill detail 15:

—— Installation Bracket
POF~FS-05/D.
Screwed to the masonry using 1/4"

x 2 1/2" Tapcon screws. Min.
embedment is 1 1/4", Screwed to
the door frame using 2x #10 x 1”
wood screws. Min. embedment is

3/4". DO NOT USE @ SILL FOR
DETAIL NO13

>—— Directly screwed:
©head, jambs &sill detail15 :
Directly screwed through the frame]
to the masonry using 1/4" x 4"
Tapcon screws.

Min. embedment is 1 1/4".

@sill detail1 3

Directly screwed through the
aluminum profile to the masonry
using 1x 1/4" x 2 3/4" Tapcon
screws. Min. embedment is 1 1/4".

Spacing: All fasteners spacing is 5 1/2°
from comers. For Max. O/C, see table

Shim Space: 3/8 MAX. @ head, jambs
& sill. Use std wood shims behind as

Scale: Drawn by:
1=20 S. Marcotte
Date drawn: Date revised:
01/10/98 07/11/00
File: Page:
DJS-D9802 2/15
STRUCTURALLY REVIEWED BY:

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36th STREET, STE. 217
: MIAMI, FLORIDA 33166
WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER

FL. LIC.NQ. 44167
D eSS >

— /o

|

required.

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING COOE

DATE /= of, 200)
BY lsgl,aq' . & Lked=
PRODUCT CONTROL DIVISION
BUILDING CODE ¢OMPLIANCE OFFICE

ACCEPTANCE NO. 4% - ZZ& .Dé




3/8" shim space max

3/8" shim space max
3/ — S Y ve AW\ 5 /2"
3/8" J A
shim max N\ ) X ' max. shim | . max X max.
~ space 3/8”/ Passive o/c see  +« space 3/8 Passive o/c see
< shim sash | table o l s:g'r: sash & I table
‘ pace X | —t 2 . ce H—T
£ i N ctive \
= X ctive & I Max. = ,\j \ sash l max.
AN sash 5 N
o ° e For doors up l o/c bt E 8 l For doors up ‘ o/c
¢ £3 6 to 76 3/4 FW ¢ Es 6 to 76 3/4” FW
s £7 S or 111 3/8" i | 1h—t 5 & / or 1113/8 F{ —4
8 %L ™ For doors up max. ¥ x For doors up max.
. S8 NEEAG to 64 3/47FWR Ml o/c v a2 | 19 to 64 3/47FW \ | o/c
° 3 < it ‘*8 or 99 3/8" FH £ £ < ~ Wﬁ or 99 3/8" FH )
o o o< T- —i < r—1
= 7 — € 7 max. = 7 8b @ [ max.
* £S . 31 5/16 o/c X \ 7 o/c
(o] [¢] x N Q \ /
€ sg g max: D.L. — £ _ﬂ : - _]__+
t k4 E; width max. - & \g < max.
0 5% & N =g o/c
N 34 N/ | o5 | g€ / |
- nmr = 1 Q gl Il
— max — max ~ max.
max o/c 38 G , / N | o/c
572 1 J 572
== ==
max. I max. max. » » [ I max. ' max. max. L5 1 »
38 table 1 /¢ o/e T ofc 2172 512 table  °/¢ ofc T ofe &
shim 76 3/4” mox frame & overall width—4 = — 76 3/4" max frame & overall width —
space . | . 3/8" shim space max OUT-SWING DOORS
| AW, 5 1/2 CONFIGURATIONS: x, xx
max /X X max. VIEWED FROM THE OUTSIDE
- 3/8" \ o/c see WOOD: Mahogany
shim tabt
é” g[«é\“l \spocecﬁve zc?:hive & : :——OT ) @ @ *Note: D.L.O. max. lenght @ Muntin TABLE FORMAX.DISTAONRFE
O« AN « BETWEEN BRACKET
& ¥% | 5 to 76 36w | |l TYPE OF GLASS: SINGLE, LAMINATED @JAMBS, HEAD OR SILL
°© of / or 11 3/8" FH| th—+ e Do, aEA UP 7079 sqf: 15/32° (0.1) MADE OF | | Frame Width (n.) | max
3 7 |~ 19 For doors up \ max. | 3/16"(AN)-0.090" Safiex Ill G* interlayer—3/167(HS) from to  |olc (in.)
® to gg g;g. m | ©/c [FoR D.LO. AREA UP T0 22.48 sqf: 15/32" (0..) MADE OF o o | 1w
E — ”ﬁ or | 3/16°(HS)~0.090" Safiex Ill G* interlayer—3/16°(HS) 62 116" | &6 34| 13
= 8a @ max. WP: 1 3/4* RAISED WOOD PANEL 66 13/16"| 72 3/8°| 12"
S | \\ 74 | o/° [ oo aex 7a sqf 72 7/167| 76 3/4" | 11°
E 1 (*) Refer to page14
o woo%\ g2 . wood max. HINGE SPACING
> | aneh £ ¢ por@/ | o/c DESIGN PRESSURE 148803 steel hinges by
- 2 = m— Positive Pressure: +58 psf Jordinier Massard secured with
- 372)'5 | <\9 ga & / | max. Ng;u\i’fe l;ressure -68 sz with 8 x #7 x 1" flat head screws
shim 11 N I o/c [NOTE: Al sizes noted are FRAME DIST. 0/C
space H- 4 . [moximum sizes. Sizes smaller in HEIGHT FROM  MAX.
4 _] 5 1/27 | width & height are permitted. UPTO  QTY: CORNER
 mhax! ax. | max. | max | . | NOTE:  This unit will not need 93/8" 5 8 209/16"
51/2" L—lmeL— r::%. —— r:;: n;;z. —l—l 5 1/2" | o hurricane protective system. m3/me s 8" 233/8"

INSTALLATION DETAIL:
2 x PT WOOD BUCK

@head, jambs &sill detail Q

—— Installation Bracket
PDF-FS-05/D.

Screwed to the buck frame using

Ix #$12 x 1 1/2" all threaded

(a.T.)wood screws. Min. embedment

is 1 1/4". Screwed to the door

frame using 2x #10 x 1" o.T. wood

screws. Min. embedment is 3/4".
DO NOT USE FOR DETAIL NO 11

>—— Directly screwed:
Ghead, jombs &sill detail Q
Screwed through the frame profile
to the buck frame using #12 x
2 3/4" wood screws.

Min. embedment is 1 1/4".
@sill detail11

Screwed through the aluminum
profile to the buck frame using
#12 x 2" wood screws.

Min. embedment is 1 1/4".

INSTALLATION DETAIL:
1 x PT WOOD SHIM

@head, jombs &sill detail Q :

—— |Installotion Bracket
POF~FS-05/D.
Screwed to the masonry using 1/4”

x 2 1/2" Tapcon screws. Min.
embedment is 1 1/4”, Screwed to

the door frame using 2x #10 x 1”
wood screws. Min. embedment is

3/4”. DO NOT USE @ SILL FOR
DETAIL NO 11

>—  Directly screwed:
Ghead, jombs &sill detail §
Directly screwed through the frame
to the masonry using 1/4" x 4"
Tapcon screws.

WINDOWS
gﬁ

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

JS SERIE
INSWING & OUTSWING
WOOD DOORS

MIAMI DADE COUNTY

Drawing no.: MQJUS—NOQA4

Scale:
1=20

Drawn by:
S. Marcotte

Date drawn:
01/10/98

Date revised:
07/11/00

File:
DJS-D9803

Page: 3/15

TILLIT TESTING & EN

G

. STRUCTURALLY REVIEWED BY:

ies

2T
INEERING COMPANY

6595 NW 36th STREET, STE. 217
_ MIAMI, FLORIDA 33166
WALTER A. TI.LIT J22., " E.

y—

STRUCTURAL ENGINEER

o

O~

FL. LIC.NO. 44167

Min. embedment is 1 1/4",

@sill detait]1

Directly screwed through the
aluminum profile to the masonry
using 1x 1/4” x 2 3/4" Tapcon
screws. Min. embedment is 1 1/4",

Spacing: Al fasteners spacing is 5 1/2*
from comers. For Max. O/C, see table

Shim Space: 3/8° MAX. @ head, jambs
& sill. Use std wood shims.behind as

required.

APPROVED AS COMPLYING WITH THE

SOUTH FLORIDA BNLDING CODE
DATE_Z£ oF, 200/

By |} s{qu 1, (L Liavde

PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFiCE

ACCEPTANCE NO, 99— 1222.04




ASTRAGAL

IN-SWING
FOR DOORS UP TO 64 3/4° FW
ORSIIBFH 5 1/8°(MIN)

DAYUGHT

31 /8"(MfN)——1-—;7JB”
|
~

OPENING

5/8" 3/16"

2 9/16"(MIN) 1/8"(MIN
5 5/8"

(MIN)

ASTRAGAL
inswing
FOR DOORS UP TO 76 /4" FW
OR 111 /8 FH

3 1/8”(MIN)

N =nnyc|)

_ @\27/16"r
e/

R X
NB = M
o)
G ‘ ___J.I\ RE l
Hy41 (3 ﬁ/ HJ401
5/8" 3/16" —\4@
}—2 9/16"(MIN) 1/8"(MIN
5 5/8"
(MIN)

NOTE: "— Clear "Spectrem 2" silicone sealant at shown interfaces

MAX 3/8"

@g\MB, IN-SWING
(1x & INSTALLATION BRACKET)

21 /8"(MIN)—T———
HJ430 —

SHIMS SPACE :

2 3/8.”
]

EXT. .

pS
"
Sttt
3
5/8"  3/16" 4
—3 1/8"(MIN)— H 3/16™
4 1/2"
(MIN)

OVERALL WIDTH & FRAME WIDTH —%-

Use wood shims
behind as required

@AMB, inswing
(2x & INSTALLATION BRACKET) I

1" x
Directly screwed through

the wood frame to the
masonry using 1/4" x 4"
Tapcon screws. Min.
embedment is 1 1/4".

P.T. CONTINUOUS WOOD SHIM

JAMB,

IN~SWING

Lock Stile

(1x & TAPCON)

1855 GRIFFIN ROAD,
SUITE A~274
DANIA, FL 33004

JS SERIE
INSWING & OUTSWING
WOOD DOORS
MIAMI DADE COUNTY

Drawing no.: MQJUS—NQA4

Scale: Drawn by:
1=2 S. Marcotte
Date drawn: Date revised:
01/10/98 07/11 /00
File: Page:
DJS-D9805 5/15

2 1/8"(MIN)
EXT.
E @i 3/16"
3 1/87(MIN) M 3/16™
_ 41/2"
Installation bracket PDF~FS~05/D (MIN)
screwed to the masonry using MAX 3/8"
1/4” x 2 1/2" Tapcon screws. SHIMS SPACE

Min. embedment is 1 1/4",
Screwed to the door frame
using 2x #10 x 1" wood screws.
Min. embedment is 3/4".

Use wood shims
behind as required

inswing

| 4 JAMB,

2" x P.T.
WwOOD BUCK

Instollation bracket PDF-FS-05/D
screwed to the buck frame using 1x
#12 x 1. 1/2" all threaded (a.T.)

wood screw. Min. embedment is /
1 1/4". Screwed to the door frame \_/

using 2x #0 x 1" (a.T.) wood

@

screws. Min. embedment is 3/4".)4ax 3/8" '
11/2"

SHIMS
SPACE

(2x & SCREW)

. Use wood shims
behind as required

N

Use wood shims
behind as required

@NUMBERS ARE REFERRING TO THE
ASSEMBLY LISTS ON PAGES 9 TO 15

Directly screwed through
the door frame to the
buck frame using #12
x 2 3/4” wood screws.

Min. embedment is 1 1/4".

STRUCTURALLY REVIEWED BY:

TILLIT TESTING & ENGINEERING COMPAN
€595 NW 36th STREET, STE. 217
b sAL DY AR anqnn
r——~——%“'£—£‘—l¥m——~—-ﬁ
WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER

FL. LIC.NO. 44167 _

=Ll

al

¥

MAX 3/8"
SHIMS
SPACE

11727

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

DATE of, 200/
BY L . snd

PRODUCT CONTROL DIVISION

BUILDING CODE COMPLIANGE OFFICE
ACCEPTANCE NO. A9 - lzzg»oe




. 1855 GRIFFIN ROAD,
1" x P.T. CONTINUOUS WOOD SHIM

SUITE A-274
OVERALL WIDTH & FRAME WIDTH —% DANIA, FL 33004
5( Msl{g MAX 3/8” SHIMS SPACE |
}—2 9/16"(MIN) 1/8"(MIN)—-————,t—-géE"-q'|ﬁ|'éT p— 3 1/8"(MIN) 3/16™ ‘" 3 1/8"MIN)——4 oy 3 116" —1
3/1 6” \ ’l"'l'l{""'l'.""""ll- k t PDF FS OS/D 3/16” JS SER'E
nstaliation bracke —FS5-
EXT. EXT. \ screwed to the masonry using EXT. 3 INSWING & OUTSWING
HJ417 ! 11207 1/4" x 2 1/2" Tapcon screws. Y WOOD DOORS
1 | : Min. embedment is 1 1/4". : 3 MIAMI DADE COUNTY
! X Screwed to the door frame |
L, o ) using 2x #10 x 1" wood screws. Drawing no.: MQUS—NOA4
H =N=—=h Ay - Min. embedment is 3/4". P Ve (WA '
9 ~ 1 | Scale: Drawn by:
NG L ‘ . | v 1=2 S. Marcotte
@/ L Use wood shims SN - -
behind as required I M Date drawn: Date revised:
» ) 01/10/98 07/11/00
=~ HJ430 \ HJ430 ' - F"g:JS 09807 Page: 7/15
P 2 1/8°(MIN; >/% >/8° J STRUCTURALLY REVIEWED BY:
3 1/8"(MIN) — 2 1/8"(MIN)l——2 3/8" — | MAX 3/8" 2 1/8"(MiN)+ = —2 3/8"—4
4 1/2"(MIN) + SHIMS 4 1/2"(MIN) K
5‘3’-‘3\32'3355 gr? o \ T SPACE '|.|’ | TILLIT TESTING & ENGINEERING COMPAN
. ASTRAGAL 7 QUT-SWING ““P Directly screwed through J GSQSM%VM?GE‘LSOLTSETSGSJG% 217
the wood frame to
OUT-SWING (1x & INSTALLATION BRACKET) QUT-SWING the masonry using \-VALTERA.TlLUT JR.; P.E.
(1x & TAPCON) ~ 1/4” x 4" Tapcon screws. STRUCTURAL ENGINEER
7 Lock Stile Min. embedment is 1 1/4".
;56 I @D
(MIN) 3 1/e 7 JAMB, outswing @AMB, outswing
L2 9/16"(MIN) ——— (w{: ; | (2x & INSTALLATION BRACKET) | (2x & SCREW) |
" ek Installation bracket PDF-FS-05/D " -
3/18 j ‘/® screwed to the buck frame using 1x 20°-30° 2" x P.T —_
d \ #12 x 1 1/2" all threatened (a.T.) /\' WOOD BUCK
£XJ. ' wood screw. Min. embedment is
HI47 HJ407 _ 1 1/4". Screwed to the door frame “ Directly screwed through
using 2x #10 x 1" (a.T.) wood ) the door frame to the ]
. screws. Min. embedment is 3/4". buck frame using #12
— i » x 2 3/4” wood screws.
~ < ® Min. embedment is 1 1/4"
@/ ' Use wood shims
-+ behind as required
— 3 1/8"(MIN) . L - ] APPROVED AS COMPLYING WITH THE
Use wood shims SOUWWO?
FOR DOORS UP TO 76 34" FW behind as required DATE_ /=
OR 111 3/8 FH "'lq, I MAX 3/8" ov_lelaa 1. Clands
ASTRAGAL SHIMS 11 /2"—! MAX 3/8" 11 /2“—1 PRODUCT CONTROL DIVISION
<:> 2 SPACE SHIMS : BUILDING CODE COMPLIANCE OFFICE
outswing SPACE ACCEPTANCENO,_ S99~ 1228.06

NOTE: _— Clear "Spectrem 2" silicone sealant at shown interfaces




[ o
g h = s i
2 « o] .. Te) : o B e
mmm o M s mm g m m = o ul m
g . o 1 ~0
mhﬂ Z w O .WJWNV8 mme.N7 ..mm ~N m...l_v«u_
1 =235 | =12y =28585 )| \ Eus | 5w
0AZ nool . L[z7]eSle |S B =2 RN =8V dzun
® o W2l wnlow =l 4 m zWaSg L Ny oS yHE 2"
. r20 pe il ) o = N\ zg Bz
e A w o |a |a SLSAA0\ L SEX%z2 3¢
w o @} > 224 “ 2 Wi = g G i
N Q m = « 3" MAU. R SsJVIz 20
noOa | "~ .ol 3 Mc =4 NN 8z Lméo.
S0 = o col @ ZX < - N o O o w =
IWM c W/ QW. NMMR i iz quﬁ
W w N So 0 C. w o EUF ' W -lr-fllu = oo Z
m 2 = g1. M= W e O 3x Y8=z¢&
< 2|2 |esl.2|Bl =2 =k o 1828
5% sia 18 E° B9 B8Eag3¢
SL 0L 6S39Vd NO SLSN A7ANISSY S30DJJ3}U} UMOYS }D }UDIDAS 3UODI|IS WaJujoadg, I08)) 4  :
JHL OL ONIY3IIN ¥V SHIAWNN ' ! I e 196s. & 310N
(13%0V¥8 NOUYTIVISNI ® XZ) @ MONg GOOM (AIMIH0S #® X2) 5
buMsIno TIIS ¥00Q \\\ 1'd X 2 / buimsino *T3IS ¥00Q
R -  —_ _ —_
Q | ub/L L S Juswpaqus Uiy L3
\/ | "SM3J0S POOM p/¢ T X M
© o Q Z\# buisn awpouy yong = MMA
£ O 9y} 0} swoy Joop By} <3 S50
25 ~ — ybnouyy pamauos A|3oaug < —
> g L _ ulln\\|||| - e
3% B = <3 _ ) IH\__,
09 =¥ 0L¥rH § paJinbas sp puiyasq g OCrH ©o
- Mg w 8 SWIys poom asn . - Nb, -
0?2 xha © J/€ ¢ —H
ne < W ~ T =
>55 = ™ . &
a "7/C S JUSWPaqWId ‘Ul 'SMaIOS z w . *
poom (*1'D) .1 X QIF xZ Buisn = © w
WY JOOp 3} O} PEMENS " b/l | & /l > > m
S| JUAWPAqUId "UIN ‘M3JIDS POOM N ~ 3 o
("L'0) pausyoauyy 1o 2/ | x ZI# T =, o —
(NODdVL % x1) x| buisn awoy %onq ay} 0} pamasos =2 < &
@ 0/S0-S4—30d 18¥%90.1q uol3D||D}sY| Qw0 : - &
bumsino ‘(sji0. - 7 5 if¢ -
puondo yyM) TIS ¥OOC i ff[ * z
o
/L L St jyuswpaqus ‘Ui
‘SM3J0s poom .z x ZI# Busn
¥oNq 3y} 0} :pasn ¥ong xz I
"SM3J0s uoddo} ¢ x p/| Busn $
AJuospw 0} :pasn wiys x| 4K
:0} ajyosd wnuwinp (louonndo) NMOHS
ay} ybnouyy pamauos Aj3oaaq A e I3NVd QOOM
WIHS QOOM _
SNONNILNOD o v/€ |
rESam ©
I'd x 1 / S 8/
paJinbas so / .
PUIYSq SIS 1 \\_ﬂﬁ
pooM esn Z/} L Sl juswpaque Uy A\ -
. j| ! ‘PUS UOD® }D MIJOS POOM —d d—.8/L -
mm nd //‘r‘f‘tWtr/l"f‘h»“-l!o"fll'tl'll« POy joi :ﬂ X NF* X [ /M\
Do ‘ >
> = W v/s ¢ . L
3= - ‘.,'\r/‘wn“ _ (1ouoydo) T, goprH
== S .
T 1 : T
o . [/ Yo fauod poom /m ;
©
<z D 4va HSYS o L
w3 v/¢ 72— ~ 2 5
-~ " m e ] fwe]
- . MMw T
| — LOPrH _ ”.Mn..
_ 5 O A s
. €S . 5 z &
© £Ea © = z
N< ® O < —_ o
03 = n = z ® (v ]
2 o © o5 : e 3
I z : e 3
. N N &
> <~ - gl S
i o2 ~ [FE
€5 " o < '
o 2z 5 N S ©
ﬂ ¢ O = " 9 ﬂ
N 3% _ 35 T
" - . L3
« paJinbas so il
_ pulyeq swiys
. poom 9s(
_. /€ S| juswpsque ‘uy
W2/ L S juswpaqui “ui 'SMa1ds poom | X OL# xZ Buisn SNONNILNOD Wﬂﬂrﬂﬂo..mﬂn_vcm
‘PUS YOD3 }D MIIDOS POOM WDl JOOP By} O} Pame.dS 1d X 1 ooM 8SA X |
posy oy & X ZI# XZ ““¥/L | S| juswpaquie ‘uiy P n
'sMaJ0s uoodo] . Z2/L Z X ¥/1
Buisn Aiuospw sy} 0} pemesds (13x0v¥e NOUYTIVISNI % Xi)
0/S0~S4—40d 18%°04q uON}D||PISU) bumsino ‘gvIH




—

2 3/8"

3 3/4"

HJ430

3/4"———11/4"———3/4" | 5/8" |

7/16"

L 3/16

3/4"

7/16"

IN-SWING: FRAME @
HEAD & JAMBS;

OUT-SWING: FRAME @

HEAD, JAMBS & SILL

$—11/16"———1 11/16"

31/8"
(MIN.)

-

SUPPLEMENTARY

L
HJ419

2 3/4°

b RAIL (optional)
IN-SWING
or OUT-SWING

WOOD PROFILES

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004
®

JS SERIE
INSWING & OUTSWING
WOOD DOORS
MIAMI DADE COUNTY

Drawing no.: MQJUS—NOQA4

Scale: Drawn by:
1=1 S. Marcotte

Date drawn: Date revised:
01/10/98 07/11/00

File: Page:
DJS-D9809 9/1 S

-9,/16"-

3/16"

9/16"

FRAME SILL,
IN-SWING

HJ435

-9/16"

2 5/16"

3 3/4”

3.

(MIN.)

r_z 1/16 (wN.)——I

SASH BAR
IN-SWING OR
OUT-SWING

2 3/4"

HJ408

T

—

11/16"—

—1 116"

13/4" ————

5 /8"

STRUCTURALLY REVIEWED BY: _|

‘ . ‘—l [N BRE.
TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36th STREET, STE. 217
- MIAML ELORIDA 33166
WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER

. FL.LIC.NO. 44167

= Loor

APPROVED AS COMPLYING WITH THE

SOUTH ELORIGA BUILDING COD
DATE_Z;e%W 0;, Zoo/

BY_\ohae |. Chavds
PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFiCE
ACCEPTANCENO, A9-1228-0L




1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

9

JS SERIE
INSWING & OUTSWING
WOOD DOORS
MIAMI DADE COUNTY

Drawing no.: MQJS—NOA4

Scale: Drawn by:
1=1 S. Marcotte
Date drawn: Date revised:
01/10/98 07/11/00
File: Page:
DJS-D9811 1 /1 5
STRUCTURALLY REVIEWED BY:

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36th STREET, STE. 217
MIAMI, FLORIDA 33168
WALTZR A. TILIT JR., P.E.
STRUCTURAL ENGINEER
. FL.LIC.NO. 44167

e
P P
#7

T p—t-7/16" . 1/2"
( \ ® / ZT130 . I—1 1/16" —glass 4
N o s s bite
T © SASH WATER DRIP o = '
— ) N
1—1 7/15"—1 > — 9 H
i 2 faces ‘ w
ZJ142 L adhesive tape (2 4
Q
ASTRAGAL MOULDING & 8 ! ={ g))
» 1 ~ o)
. 19/16"—3 @ w
+1/2 - R / ) UL <> -1y
s = N °
© > | <
. < - |
© W ]
\ > H H .
- v (AH5 & Wood Shim () S () AH2
T 7 i L.__s 1/8
L :I_ MMQM”II”MO”?I” PT001
+—5/8"4 I ‘ @
> | ALUMINUM FLAT SILL
15 GJoe4 | . ' RAISED WOOD PANEL
GLAZING BEAD
BILL OF MATERIALS (see also related cross sections details) @ REF. NUMSERS ARE RELATED TO THOSE USED ON CROSS SECTIONS DRAWINGS
REF. QTY Component DESCRIPTION MATERIAL DIMENSIONS MEAN OF ATTACHMENT LOCATION
2 per Astragal £J142 astragal wood Mahogany| 3/8"(d) x |18 gauge, 5/8" gaivanized IN~-SWING: One nailed on the interior face of the
astragal | moulding| cover.  Square cut at 1 7/16"(w) x | finishing nails spaced 16" active sash & one nailed on the exterior face of
meeting the ends. sash height | o/c. the passive sash.
OUT—-SWING: One nailed on the interior face of the
passive sash & one nailed on the exterior face of
the active sash.
@ 1 per Giazing GJOB4 wood profile, Mahogany} 1 1/2"(d) x | 18 gauge, 1" finishing @ the perimeter of the glass or wood panel; Nailed
glass edge | bead mitre cut at corners. 1 13/16"(w) x| nails spaced 2" from the through the glazing bead to the sash profile.
mullion lenght| corners and 10" o/c SEE ALSO "GLAZING METHOD”
One panel, | Wood Rois,?d wood panel: Mahogany}l 1" wider & | Dow Corning 995 structural | Where indicated as "WOOD PANEL” on elevations
where panel 5/8"(t) @ flanges, higher than | silicone at the perimeter; drawings.
specified 1 3/4"(t) @ center. glass opening.| See "Glazing Method”.
1 per door [Flat AHS aluminum profile Alu. alloy | 1/4"(h)x 5"(d)] 2x #12 x 2" flat head Door frame sill. Screws spacing is 5 1/2” from
sill saddle 6063-T5 x 1/8"(t) screws corners & 14" o/c. Square cut @ ends.
1 per door [Stopper JAA2 aluminum profile Alu. alloy 3/8"(h) x #10x 1 1/4" F.H. screw Door frame sill. Screws spacing is 14" o/c. Butt
sill 6063~T5 k 9/16”(d)x1/8[ joint against the frame jambs @ both ends.
@ 1 per door |Shim Continuous wood shim Mahogany 7/8"(d) x See AA2 screw. Door frame sill. Screws spacing is 14" o/c. Butt
sill 11/16"(h) joint against the frame jaombs @ both ends.
1 per sash, | Sash ZT130 Wood moulding. [Mahogany| 7/16"(d) x | 18 gauge, 1" finishing INSIDE OPENING ONLY: Nailed against the exterior
inswing water Square cut at the ends 11/16"(w) nails spaced 2" from the face of the bottom rail of the operable sashes; a
drip corners and 10” o/c double face adhesive tape is used in between.

APPROVED AS COMPLYING WITH THE

SOUTH FLORID, BU'LDNGCO?
o0
DATE 4%@4& /} /

gy IShaq . Zanda
PRODUCT CONTROL DIVISION

BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCE NO._A4 - n_zg-o b




Sttt ey e —
30 B221-bb ON FONVLIdID0V

SONMYYQ SNOILO3S SS0¥D NO Q3SN 3SOHL 0 Q31vI3y 3uv

SYIGNNN "33y @

#0310 3ONVIAMOP 3000 ONIGTING
mtswamngomnooad 'SPUS 30q 30 2/0 /L6l (ae/e SL-£909 () WL x M).ze/s u uado
SERo, ] begTag || SAWOl swouy au3 3suibbo juiel 1Ing AINO ONINTLO Pao0ds ‘smaios poom| X (P),8/¢ | Kolp | '3/0 p/c—% © ssjoy ‘lls_poom
7’ 12| =™ 217 JAISNI “GEPrH "ou s swby sy} Jo doy ayy 3y POSY punos /¢ x gl x (U),z2/1 | | wnuwny deam ‘sjyoud SGiS4 [puonbuipy|  sad |
fov
‘ aﬂmmoiHLnos v—| sabod sajou uoio (1)61} 19918 pazjubApb g9
WAL UM SNIAINGD SV Q3N QY (/) y—1 sebod 810y | —joysur eag :aunjonns o) x (4).6zZ1°¢ 99605 uono| fuwiied swpy ®
93s ‘(9/0) J93usd o 8oUD}SIP ‘xDW 8y} Jo4 ‘susul0D . - . ) £G9V WISV || 8bog [ = y ®
woy 2/1 G © ‘Jewied swoy syy punouy /€ w?stﬁzJe:sw;olga ¥ W8 pars Ao 19500.4q UOND}|D}S U I}Su| fuo spuadag
A X Ol# xZ:swpy Joop o) 0/S0-S4-4ad
"Ybidy ysos sy} uby) ssa «CL St 3ybusy pays | 0 /0 Jl ® pup eoys ay) UMD
91/6 (6 uoyy Jaypaib jybiay ysos 4oy ‘(ysbs aAloD 40 woyjoq a8y} woy 6 (rP).2 PI0D ‘02010 ISIv 19835 | 3juswaed| (obouyso
40 8al3oour) bunssw pbouyso up 40 3|1}s sjpuby @ ® 10g j@dys | x p/| x (1).8/¢ 19915 P3ZIUDAIRY ‘OGOLIVY | —Jojulay Jad z @
"'Yysos ayj wpooy "$J8UJ0D JEYETVVEY:|
USDS 3AlOOuUl Jo 9ys pabuly % woljoq | punoso srocouB snonujjuod (W.2/1 auby) ® 1IN0 auyw ‘}axsob ysos uo ®
‘PD8H ‘saysps Pax)} % 8aAlloD By jo J8lauiag D ul }9%spb u-ysnyg X (P)“QL/Q —aunkjo4 Wwpboy OGZSMD 19bajyog 193809 | spuadap 47
"ysos ay) SJ3uJ0d @ }ND AW J939wiiad
"USDS 8Ai}ODUI Jo B)3s pabuiy » wojoq [ punouo ar004b6 snonuijuod W.v/s "19%s0b sppiw u—ysny }o%sob| uysos uo @
‘PO3H Saysps paxiy 2 8A;oD 4} jo Jajewley O Ui 48%spb ui-ysng| X (P).gl/¢ Ndd3 ‘06167 uowbnug SIPPIN | spuadap
NOLLYJ01 IN3AHOVLLY 4O NVIN SNOISN3WIa WIMILYN NOLLJI¥0S3a Jusuodwon ALD 43y
— o e (siieyep suogoes ssouo Pejeje. osje 89s) STVINILYI 40 T1ig
“lOlpbONOM T
H3I3ANION3 1vum;>ngls [99)s pezjueaieb pgo
"B'd "HP LT Y B3V €€ DS £59V WLSV 1} eBeo
412 315 133013 06 Ak 850 L34OVHE NOLLVTIVLSNI 140002y INIOd A () .1 x (W),z8/s
V4NOO DNIHIINION ¥ DNILSIL LITIL (0071 1/20 Pesine:) /50-S 4-4Qd NMVIQ d100 ‘020l ISty °/0 w/e-v @
p——t—.8%¢" Yve 1V1d 133.1S Q3ZINVATVO S3T0Hd33M 310N
‘A9 Q3MIIAIY ATTVENLONYMLS ’ GZl'¢ D I Ogouv @
' —— “@)/ Z I r QYVNONIVY WNNINNTY
— 4 h - W
S1/T1 oo, 9. . | \\\\\\\\\\\ < SIS
00/11/L0 86/01/10 _ g —a
‘pasinal 33pQ ‘UMDJp 8)D( ; SiC'e AT 1 l z l
8}1J02J0N S L=1 b ) 1 v “ I
AQ umoug :9|02g C>3 : v o
'VVON“SPOW “ou 5U!MDJG 9 l A 5:). .I.H)ISVS 5'!CICIIW -
@ ' 05151 (2) S
ALNNOD 3ava INVIW @ A % 13HSVO N
SH00Q QOOM % @ f 0S2SMD @ 91/8 4
ONIMSLNO B ONIMSNI &5 v | i
ENELX o 3 229 o | 1 .- T |
s / —
- A2z 4 N f ' S —.91/51—
OGNV 34083 30 f _£o¢ L j :J:— = 8/ | ——4
® . J
: 9L/S
$O0EE 13 'VINVQ ' B (é.OZl )
¥LZ-V 31INS . 8bog |}
‘avoy NIJJNO Ss81 —— 181l Bl




SUITE A-274
DANIA, FL 33004

o
<
[=3
-2
E
&
(L]
0
e}
©

g £
<
=E5
wPo Q
x20©
a0 P
29843
£35S
WWM
2 =

ped
.. <C [

+| 2oLy &, um
<|. 388X |8 85 au
O.W:WW.IS o ws u.N
Z[2gle— M 2L ES
NESE Erle2di\
Nigvls |8 g 2wy iy Q
ale 18 |a Nl = W]
s 3 Wy MN M.
ABREE - it
o co| o] 5 Z 2 v i 0
c 2| © m = Z o . 8

nn.vGO [a) K] Do ™ . | /
o| olsg| L2 = 2
£ lsc< N m = adfT
z |= 2o|luR1 6 = &L = )
18 | |2°l"L & =N
Sl |o TH .

P 2001

bande

PRODUCT CONTROL DIVISION

r

BY_labheaq \.L

APPROVED AS COMPLYING WITH THE

<
bl

OUTH ELORIDA BUILDING

DATE

BUILDING CODE COMPLIANCE OFFICE
ATCEPTANCENO, A&~ \22%-04

JANVYEL U.B/E LLL XM P/E 97 ‘'JUVYMANVYH m &
t 14 m@m
© 26 oz8
nO ¥ouw 2
n.vnunu m E~ 2.
EW_._ SnNum 5%
WDl 8y} j0 Woljoq SO ESao ®
wol Xow pg 0} =5 mm_._l._ %%
—|| ‘UW Q¢ WOJ) SOLIDA m& Q= N
ybiay ejpuoy < Mwm T3
@
I
B
" v I
T .02 } K24 } n_ L
Y m "
_ Wbtay jors auompioy ¥/| 801 o .._,
[ Q\l [ |+
! w
® W % @11
%28z g
€ P 3 <
0 Smmm 53
o ] £z
3 _W_ m ®oZ *%5
p =229 >
o Qpx = ©
A ©) S 28z »
- o
x m =
= @ N g
xow .8/¢ €T xpw gw\nHMoe .8/¢ nH.mL "

SONMYY(J SNOLLO3S SSO¥D NO Q3SN ISOHL OL (Q3LVIIY 3¥Y  SHIENNN "33y @

HINGE SPACING

1488-03 steel hinges by

Jardinier Massard secured with

with 8 x §7 x 17 flat head screws

E ]
[7=18 §
= o
> SN
<€ M
o= o™
N o~
o
==
538 o
oo
W "ol e}
- L3
oo O
wh= S~
AMnmm yvo
o o=
mHU N —

»

p——51/2"—————

I

(o]
o 2
o] ¢

B

[@]

=

[7]

(@]

=

c

(o] (o] 3m.
QD o

(o] (o] mm
- &

(o} (o] m
) Ok

91/6

9)0|d |931S 2

‘IbJ Wo030q WoJy | CLO ‘YSDS 3AIODUl UQ

P3}oWoIY)—ig

S|puby 31D}y USPPIY 03.a 4

sabuly so swos 'ss|ys Jod g ‘epis WDl x z/) x .8/| aip|d exiiys sJaqqnug| g AIF!
sabujy so swpos ‘sa|iys Jod G ‘aplsS ysoOS |991S ssaqqnus ¢¢gze—6#1 o1 L°v!
{19931s SL6YC—9

n

&)
[99}s G8yGC—9 wsiubysaw
3|1}S Pa|puDy 8y} JO Ja3UaDE ‘USDS BAl}OY pajowouyd—ig 19S3o0Qq wWw Q% 0%494| | ?mu _
|993s 6S¥LZ—9 (sns Z)
‘'DJ Wwoljoqe | ‘|Iod doy | ‘UsDS BAIOY pajowoiyd—ig si0ab Jaus0d ooua4| Z @
"1DJ EEIS £9182~-9 (43S 1)
woljoqe | ‘|iod doy® | ‘ysbs BAI}ODUl UQ pajowoiy)—ig su0ab Jausoo oousy| Z @
‘9[1}S 9AI}OD UO $ ‘saysps 3|qoisdo [993s G6292—9 (43S |)
Jad |los woljoqe | ‘IIbs doyp | ‘ysbs uQ pajowoiy)—Ig swJD 93jolpawsdlul oose4| g A3S
'saysos a|qoiado 199)s 09%.2-9 (NS |)
Jad |Ibs wojjoqe | ‘IIos doyp | ‘ysbs uQ pajowouy)y—ig SwJb uoisuaixs puj| + @
3|1} YsSDS 8Al}oDUl UO g ‘saysps 3|qouado [99}s
Jad |Ibs woyjoq® ¢ ‘iiod doy® ¢ ‘swply uQ pajowoiy)—ig 22S.2—9 sJadeay o0oia4| g| @
poaJajuad ‘ysDS 3AI}OD JO SapIS yiog [991S a|puoy adAy} usna| Z @
‘buioods o/0 ‘xow Joj 9|QD} 89S !siaUI0D sabuly ¢o0-g88¥v1
woJ; 8 ‘seysos jo s9|3s pabuly Jod g 19915 'V'S P4osson Jsiuipsopr| 0L |[(B) |-
NOILVO01 IVI¥3LVYA NOILdI¥OS3a AlD [434

(INVHL U.8/€ LLL X Mp/E 92) STVIMILYN 40 TS




GLAZING METHOD (inside glazed)

9

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

JS SERIE
INSWING & OUTSWING
WOOD DOORS
MIAMI DADE COUNTY

Drawing no.: MQJUS—NOA4

1/2" GLASS BITE 1/2" PANEL BITE
EXTERIOR _ EXTERIOR
SASH GLASS j SASH GLASS ,[
REBATE g REBATE g
1d AP 1d T o
Y —
N <
e b~ *
< <> T, L N '<> :
3 CELEE] & [ 3 SO
N L] 11 ~ N " 0
N ® )2 1
n
\ L % % )
I ©
1 = =
J | J
laminated glass glazing wood panel glazing
BILL OF MATERIALS
REF. Component DESCRIPTION MEAN OF ATTACHMENT LOCATION
© Impact Glass, see 15/32" (t) Laminated glass See components 1d, and 15 As indicated on elevations drawings by the ZZsymbol.

components 1a, 1b, 1c

©

strengthened glass

L.Glass sheet 3/16” (t) (5mm) as following: |See components 1b: PVB interlayer Exterior side
>Annealed glass for d.l.o.
area up to 19 sqf
>Heat strengthened glass for
d.Lo. area up to 22.48 sqf
SAFLEX Il G Solutia 0.090" (t) PVB plastic |2 sides adhesive film Between the interior and the exterior sheets of glass
Q interlayer film, per current approval
Glass sheet 3/16" (t) (5mm) heat See components 1b: PVB interlayer Interior side (glazing bead side)

Structural silicone

Dow Corning 995 black silicone

1/87(t) x 1/2"(w) bonding extrusion

Continuous extrusion between the wood back fence & the
exterior sheet edge of the laminated glass or wood panel.

flanges, 1 3/4°(t) @ center;
Max. d.l.o. area up to 7.81 sqf

@ Glazing bead GJO64 wood profile 18 gauge, 1" finishing nails spaced 2" | @ the perimeter of the glass.
(5/8°(t) x 1 1/16"(d) from the corners and 10" o/c E
@ Wood panel Mahogany, raised: 5/87(t) @ |See components 1d, and 15 As indicated on elevation drawings.

_B—= Clear "Spectrem 2" silicone sedllant at shown interfaces

@ REF. NUMBERS ARE RELATED TO THOSE USED ON CROSS SECTIONS DRAWINGS

Scale: Drawn by:
1=1 S. Marcotte
Date drawn: Date revised:
01/10/98 07/11/00
File: Page:
DJS—-D9814 14/15
STRUCTURALLY REVIEWED BY:

rFR—

TILLIT TESTING & ENGINEERING COMPAN

6595 NW 36th STREET, STE. 217
MIAMI, FLORIDA 33166

WALTZR AL TicLIT JR., & E.

STRUCTURAL ENGINEER

Iz L2

APPROVED AS COMPLYING WiTH THE

SQUTH
DATE

RIDA BUILDING C

%?; 200/

BY_lohaa \. (Cuanda

PRODUCT CONTROL DIVISION
BUILDING CODE ¢OMPLIANCE OFFICE
ACCEPTANCE N0, S 4~ 12280 )




TYPE OF GLUE:
RESIBOIS 222 no 30222-01 TYPE 1
EXTERIOR GLUE FOR WOOD

CORNER
ASSEMBLY

(MULTI-FORK)

FRAME JAMB/

ALUMINUM FLAT
SILL ASSEMBLY

#12 x 2" WOOD SCREWS /" '

Embedment is 1 3/4"

SASH FRAME

N

2x #2 x 3" WOOD
SCREWS AT EACH END

MIN. EMBEDMENT IS 1 1/2"

1855 GRIFFIN ROAD, |

JS SERIE
INSWING & OUTSWING
WOOD DOORS
MIAMI DADE COUNTY

Drawing no.: MQJUS—NOA4 |

| Scale: Drawn by
: none S. Marcotte

i Date drawn: Date revised:
01/10/98 07/11/00

[File: Page:
DJS-D9815 1 5/1 S

6595 NW 36th STREET, STE. 217
MIAMI, FLORIDA 33166

WALTER A. TioLIT JR., F.E.

STRELC_WCRQL ENGINEER
- NO. 44167 ,
SASH BAR e

e

ASSEMBLY | —

APPROVER AS COMPLYING WITH THE

| SOUTH FLORIDA BUILDING CODE ;
| ohee. LeDies 2] 08, 200) |
| sy \slaq U dhadde
| PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCE NO,_9 ~ 12280 6




1855 GRIFFIN ROAD,

DANIA, Pt 33004
31/8" 31/8" '
7/16" + 2 11/16" 3/8" 3/8} 115/16" + 7/16" 8
. -
Y] SASH PROFILE, T =
. JS SERIE
*«[ ¥ IN-SWING v » o INSWING & OUTSWING
< » INACTIVE SA§H: > < o WOOD DOORS
- _f @ Astragal Stile. . | - a MIAMI DADE COUNTY
< @
I : n- e, Drawing no.: MQJUS—NOA4
N N Y @ | 13/16"<l =
> > I - Scale: Drawn by:
o — mom 1=1 S. Marcotte
© N © Date drawn: Date revised:
< 4 — < | 01/10/98 07/11/010
i ~ SASH PROFILE, File: Page: 10 /15
¥ L IN-SWING 2> D980
HJ411 " HJ401 INACTIVE SASH:
| J_ 1] g ) | @ Head, Sill &
Hinged Stile.
- . . . . ACTIVE SASH: 6595 NW 36th STREET, STE. 217
|_5/8" 1 11/16"—3/4" ] 21/2 5,/8" @ Head, Sil & ' A FLORS 0108
Jambs. TFALTER A, TILLIT JR., P.E.
STRUCTURAL ENGINEER
31/8" 31/8" 5 v
" . SASH PROFILE " SASH PROFILE
7/16 4 17/8 + ’ 2 11/16 —_— '
/_ ' / R OUT-SWING / _ OUT-SWING
[ | INACTIVE SASH: [ | INACTIVE SASH:
: HJ417 % @ Astragal Stile. HJ407 : @ Head, Sill &
] J X . J40 < Hinged Stile.
C ” ACTIVE SASH:
| = @ Head, Sill &
. . ¥ . E‘_ Jambs.
N N
N l:l [ S o<
~ o, - = F—13/16"4 .
(e} P (o]
S p ] <
- T — " -
[ '{ i 1 APPROVED AS COMPLYING WiITH THE
L2) SOUTH FLBRIDA BUILDING COD
' J_'I | ) DATE /ﬁ?}l"(‘?/’? 0?/)”0/
_ av_lglaq 1. claule
" » PRODUCT CONTROL DIVISION
—5/8"— 21/2° 3/873/8 } 1.3/4" | 5/8" BUILDING CODE COMPLIANCE OFFICE

ACCERTANCENO._ A~ 1228 8¢




